w i (F1) FARIX4ART =T H8 2 5% 2 341, 0004 Pt (F1) EEXBAENTHLL33%2 275, 0004
-1 [4BT3—-39—8] 0.6 % -2 RF4—17—2] 0.4 %
160t 105t
F ) Ry VAL E = T
, \\ Hoab =B Lowsd
! ok i3 5E e
Rl 518
S e e—
AR res 7
B! 2 =
= ; B
*‘_ TR
- g iy Nt
4HT 720m e
i () SERXLENIMTH320%39 308, 000 it () EEXHK T T H4 3% 2 172, 000
-3 [45X4—-17—10] 0.7 % -4 [HAKT5—43—2] 0.0 %
99t 170t
ot vb\k
i /gl.
§ 75
;rﬁ;%a:\{\
Bt
HLEX 320m AT 3. 1km
5 B () EARHEN TH 2 0% 1 4 282, 000 A (HT) EEXES - TH1192%&34+ 302, 000
=5 W4 —20— 3 0.4 % -6 "2 =28 -5 0.7 %
132m 171m
EEhE (=T s R P W~ B
e TEt e
EODARILA
/ E:'@
“\ Q -
\G ‘ &C Lol =21
3,?@% B
T\ /ﬁ\(\
D i\
»
AR A FHITEHE
>
BRI NEER
TR INE 1. 2km T ERS  500m

- 118 -



HHE  350m

i (#0) XA AR =T HS 74%3 157, 0004 i (#1) HEXLENRSTHG6 3 0% 14+ 284, 0004
-7 [PEARIL3—20—9] 0.0 % -8 46 —29—1] 0.4 %
1001f 1401d
oy SEEEE
i
Eeall | f 7
PRI
Bz !
TSR
AT T E Y
/e
ﬂ %
é \i f i ".i =
= )
pE n
= &
L
iR
#
B 3. 7Tkm FILE 300m
i () BEXEAF-THG6 1%&1 361, 000 it () XS = TH104%5 347, 000
-9 [HFF1—5—4) 0.6 % - 10 [H&eNT3—34—1 | 0.6 %
TTAT -0 /o .6 %
1601f 112nf

T REILHER

TERALA 600m

FooBdror s
Tkikil

BH

Lol
a=FRADT

AHT 600m

15 B () BRI ANTH1I82%7 315, 000 Al (HT) EEIXSAANTHL 8 7TH1 300, 000H
- 11 N8 —24—13]) o - 12 N6 —10—6] o
0.6 % 0.7 %

82nf 91nf

TIEDIRY et xS %EQ
s B S
o

PR L

-
EFREEL

HHE  600m

- 119 -




i (AR

FAFXPERAIU T H 4 2% 2

Hi/ e 750m

314, 000 Pt (#1) HEFXKTT=TH10%4 8 216, 0004
- 13 M HF4—7—18) 0.6 % - 14 [kE3—10—1 3] 0.0 %
149t 148t
CASA DI Ff el z
- BH
7 | A R / Lm
Dhl H DA L[ [e _
/ Iz s
MEHSIOND A
ODANLEA ? :fff 1
= U-CAR g.fwwa HEEE
s 7 o 2R o KRETH e
{KC:::- | *27 _7{ \ifwm
A4  850m 4xmy 1. 8km
i () EEIXEEAA " TH1448%2 345, 000 it () BEHXHEAKITC T TH9 S5 5%&2 251, 000
- 15 a2 —6—2) L2 9% - 16 [Akmxt2—13—18] 0.4 %
105t 123nd
EEER . | I
4+— BERF —
— P15 B
BEE_T1E51E *
_ =
i
ﬂ%«%%ﬁ A T IL == “F'ﬁ E
' Ij/ bﬁbhiﬂﬁ fﬁ}b/*f %
J
=HEJil
#EME 600m AT 1. 2km
5 B () AR RNAEN T H 1 6 3% 74 318, 000H 5t () X/ NVE T TH431%1 14+ 280, 000M
- 17 [P/ 4—20—9] 0.6 % - 18 N2 —28—2] 0.4 9%
0o Elasen SR
89t 1561
4B
N
el I
7 H 7 ||
" ay 7 TR 2
HESTERE “@ i
K -
BEE R

JEIE R 600m

2 & FE R

- 120 -




Pt (F) EAFXEE " TH1231%5 269, 0001 Pt (#1) EXEN " TH23 1%&2 305, 0004
19 [RF2—28—7] 0.4 % - 20 [N 2—-21—-8] 0.7 %
102nd 110nd

Rl e ey

“ﬂhmhxﬁh

cHRR L <

RN A 1. 2km 45 800m
5t () XS A — T H 2 3 33 34} 508, 0001 5t () FEEXHIVE T H1 2 6 8% 34} 575, 0001
5-1 N1 —19—7] 1.0 % 5-2 /e 2—7—3) 2.0 %
SR e ZIXHA e
1510f 1170d
o EER
BSEwEL
T
e 100 2 o ] 0
Fyoc Fe HERD| L
1 “j‘I/::T«f
fespgen) 9 s
= \&/— [ ] 28T w2
iR 71 \_ SRR
T LT
b RNE=1
TSI 60m /e 160m
w5 fif (HT) AL ETH159 1%4 331, 000 5 B () WX BA-TH643%2 516, 000
5- 3 M6 7—7—1] 0.9 % 5 -4 A3 —18—3] 2.6 %
IR 7o A Y OM 0 /o
6611 16511
JEEHAE HeEs
A h—F-nE

— W
S TR

4% 170m B 230m

-121 -



- 122 -

P i (#15) P AT —~TH2136%43 531, 000[Y 5 fifi C&R) X AA L THLO06%54 410, 0004
5-5 &1 —-10—10] 3.1 % 5-6 5 —39—2] 959
Bl ERTEREE e 77V —Tyyiar [a=— o
921f 205nf
Eﬁaiﬁ{fﬁﬁ\\- ) =
BHEE] ‘=
BELT B
by
7
VR
J‘,#\,ﬂ TSUTATA
- ---""-
4HT 250m B4 240m
i () BHXEF=TH36%&1 452, 000 i (H) X BAEARE—THS 5 1%&54 372, 000
5-7 [HF3—34—5] L8 % 5-8 [BIEAXAR1—14—11] 0.8 %
2T AV EF e HARR e
267m 71nd
S L e S AW
FFFFE LN FollaF g BEEt - A HF - BHATEE
1, B EE AR
| I
‘ /l,-ﬁ&“%o(“bﬂf”a‘
PEEEE
HHE 180m BIEZE 170m
5 B () EHXRNHS>AKTTH240%9 206, 0004
9-1 [H->Ak2—4—16] 0.5 9
~a hHBE () 2
528 i
R W AER
‘ EFOfE 2B
| == =
B L e 2 Ft Lxﬁj/é&
[
%mwp?kéﬁzfﬁz
%N 1. 4km





